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Convert each decimal into its equivalent fraction.
Convert each fraction into its equivalent decimal.
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The cost of 4 books is 1,120 Baht. What is the cost of 15 books?

Rope X is 3.15 m long. Rope Y is 5 times as long as rope X. What is the
total length of rope X and rope Y?

The length of a piece of red ribbon is 6.5 m. 340 cm of it is used to wrap the
gifts. What is the length of ribbon left, in cm?

Mother bought 3.5 kg of sugar and 450 g of salt. What is the total mass, in
kg, of sugar and salt?
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